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100m WAS | kB | 2 | 2 | 272418 [ k& TH/ A 45 | &z | KBk [15#00 -0.2m

100m W45 | kRS | 2 | 3| 272467 |EEDA Y 3v4h 1h) 49 | & | KR [15#48 -0.2m

100m W40 | sREs | 2 | 1| 282147 |/ BF 13y 442 43 | | EE [19#03 -0.2m

100m W40 | 3RBs | 2 | - | 272471 |HBAHEY I 41 | &z | KIR | X35 -0.2m

100m W35 | shEs | 2 | 1| 272167 |5H #F 8 vava | 38 | & | KBR (1798 -0.2m
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Bl B 2024%4R298 (- A) [F5v2 (100m) DEB)

= 8 etz| ZFRES K % | ElER| TR | £ % A AR
100m W30 | R | 3| 1| 271626 [4EH EF YN R 33| & | KB |12#12 -0.6m | K&H
100m wos | seig | 3| 1| 272219 (5T Bk |73 28 | & | KBR |12#79 -0.6m | K2
100m W25 | RBs | 3| 2| 290672 [E& ¥k JIYN HI 271 | | & 15#48 -0.6m

100m W25 | RS | 3| 3| 272477 |KRE HR 47 I3 29 | = | KBr (15762 -0.6m

100m W-241 & 3| 1| 272221 |BElR (B 7Y 77 31 24 | & | KB |13#83 -0.6m

100m W-241 ks | 3| 2| 272470 |32 & kh Y Fkn 20 | Zz | KBr [13%#84 -0.6m
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